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HAE B85 2 SH(MIIEX/L0 - HAH) 435,221 407,265 27,956
) 95,229
[= 55,954
= 284,038
HE Had 84 435,221 407,265 27,956
pJ 95,229
[= 55,954
= 284,038
HAE ZEXNANEH 2 119,663 121,225 A1,562
[= 9,000
= 110,663
101 Q14 71,503 68,565 2,938
[= 6,400
= 65,103
02 JIEtRIE 71,503 68,565 2,938
OelAH| 52,820,000 52,820
[= 6,400
= 46,420
gxLg 23 5,000,0008 x2H 10,000
OAlZ2tel 284% 219,750 x2H x 122 5,274
O=0lgiz2 AL 242 2,179,000& 2,179
O20IAUBE A2 222 1,230,000 1,230
201 LEr2HH| 24,760 22,760 2,000
01 AtR22t2IH] 23,900 18,900 5,000
Oggta=2H| 15,000,000 15,000
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M Z3M=sH
X

o HAE 25 U SH(ASSX/=Q - FAH)
Sl AW HAUE S84 (el &2
_ _ _ Muo
SN B SRA(SIH) - MBAY - BAS 0l &k 24 e HlnE2
SEEFET] 900, 0002 900
osg+g 5,000,000 5,000
oYz 3,000,000% 3,000
2 T2 860 860 0
02222 2 AA 860, 0002 860
202 o1t 4,800 4,800 0
01 =2Uioibl 4,800 4,800 0
OFAY &Y A= oY)
20,0001 %2 * 1203 4,800
301 LPBAI 3,600 3,600 0
10 BAAEI 24 S 3,600 3,600 0
OFAYE RNASAR DS &4
30,0002 x20 x3] 1,800
OOHHLI X DS &4 30,0002 %2033l 1,800
307 2I2H0IF 13,000 16,000 A3,000
= 2,600
2 10,400
04 DIZIE AL 13,000 16,000 23,000
OBAW JIzHD 4,000,00021+13] 4,000
= 800
2 3,200
OFAW 2IHY o T2
6,000,002 13| 6,000
= 1,200
2 4,800
O+5012 B44 ABINE T2y
3,000,002 *13] 3,000
= 600
2 2,400
405 THAHFSH] 2,000 5,500 23,500
02 AP 2,000 3,000 A1,000
OBAEZSXAMH TAH 10,0002 #2002 2,000
AWFAE LN 51,660 44,860 6,800
= 2,860
2 48,800
201 Yer2 Y| 1,160 560 600
= 200
2 90
01 ALR eIt 1,160 560 600
OBAE BSCHEAQ AB4SH 600,008 600
= 200
2 400
SR 7,0002! %2 *403] 560
202 01t 2,000 2,000 0
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M Z3M=sH
X

M HAW 25 U SL(MISX/E0 - Had)
CHol AM HaW sS4 (erel: @2
5 o SIEN
SAN-ZH-SA(FA) - NFAY - BES Off &F oK Ofl At ot HwsZ
= 67,332
02 SI2HBAE X 172,968 151,220 21,748
OFAHSDS O5HEI0I 2|
172,968,000 172,968
p 70,424
< 35,212
= 67,332
AW SHEZ2IY 29 5,400 5,400 0
p 2,700
= 2,700
307 ©I2t0IH 5,400 5,400 0
p 2,700
z 2,700
04 BIRbEALE X 5,400 5,400 0
OZZHAULMAIL T278 29 X
5,400,000 5,400
p 2,700
= 2,700
HAE KNESX B 20,720 18,720 2,000
p 9,360
z 11,360
307 ©I2t0l M 20,720 18,720 2,000
p 9,360
= 11,360
02 SItF AR E 20,720 18,720 2,000
OZZHAULMAIENTA Q124 X2
20,720,0002 20,720
p 9,360
= 11,360
YAd RUXAVE 29 3,800 3,000 800
p 1,500
= 2,300
201 Yer2ey| 3,800 3,000 800
p 1,500
= 2,300
01 AtR2elt| 1,200 400 800
OFTETER = 800,000 800
Osg+g 10,0008 ¥20% +25] 400
p 200
= 200
03 A2 Y| 2,600 2,600 0
OFAERXLE HIIs(Z203)
2,600,0002! * 13 2,600
p 1,300
= 1,300
DIIPEE Y BFAMY WES(SIYBY/ B 1,534,307 2,689,668 A 1,155,361
p 22,560




SH: 2SS
I BPIIUESE L ABNY WE(RHUBT/DEY)
Sl B IRINL (el &2
_ _ _ Muo
SM-EH . C(BH) - HRAY - B2 Ofl &+ 04 Sl ko HRs2
= 507,335
i 1,004,412
22N 1,138,500 591,100 547,400
= 500,000
= 638,500
HUBRX HBESAY 1,006,300 0 1,006,300
= 500,000
= 506,300
401 A &HIYL 2048 1,006,300 0 1,006,300
= 500,000
= 506,300
01 Al&HI 1,000,000 0 1,000,000
OdES=ZSMEE =4 1,000,000, 0003 * 14 1,000,000
= 500,000
2 500,000
03 Al 2 0HY| 6,300 0 6,300
ORESSMEE T4
1,000,000,000& *0.63/100 6,300
BRTAS HL ALY 50,000 25,000 25,000
207 o1 opeLt 50,000 0 50,000
01 A= SH| 50,000 0 50,000
OOl28RT QA 43t Al EIEA FA 8
A(0l=M T2 HME A AFE 50,000,000 14 50,000
2HEES 82,200 62,500 19,700
201 Let2d| 40,200 42,500 A2,300
01 AR 22| 38,200 39,500 21,300
O2Z2XE ME 2 500& *30,000% 15,000
O2ZI0I1ES HME 2L 2,500& *5,000% 12,500
OZINEE HE 2,000 x5, 0004 10,000
OBZELASET 27,0002 2502 700
03 A2 ZHI 2,000 3,000 A 1,000
OS5 e 29 (0lHESA)
2,000,000 14! 2,000
202 O4Hl 2,000 0 2,000
01 =Wl 2,000 0 2,000
OBZER L OIEEE oYl
20,0002 %22 *502 2,000
307 212t01& 40,000 20,000 20,000
04 QIRHHAIE X 40,000 20,000 20,000
OM115 e4AEZEXM A 15,000,000 12l 15,000
02010 BB FIHFSELRLY)
5,000,000 1] 5,000
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2A: 2SS
Hu: pE|BHE Q 22 /)
el BRI (el & e
M- " . Cie of . HANS AF ol &EIE H D=2
= T = oS = =5 0:”/&,% Lsa
OS&R2AX =0 2
5,000, 000& 23| 10,000
ORB GEO 24
10,000, 000& *13] 10,000
22 Al & 22| 395,807 2,098,568 21,702,761
| 22,560
= 7,335
= 365,912
Zot 2t 2o A & 32,060 39,200 ANT,140
J| 7,560
= 2,835
= 21,665
101 14| 25,200 36,000 A 10,800
J| 7,560
& 2,835
i 14,805
04 JI12tMZ22 25,200 36,000 A 10,800
O=zstas HEIELE)
35,0003 »3H 240 25,200
J| 7,560
& 2,835
= 14,805
201 LBt I Y| 1,900 2,400 A500
01 AFR 22l 1,900 2,400 A500
Ot & A (=)
400,000& 3% 1,200
OZ 2o & A 300, 0002 * 104 300
Ooll & OHLH T X[ & ' 200,000& *2JH A~ 400
207 AN Y| 4,000 0 4,000
02 &&HHEdl 4,000 0 4,000
OF2AHEA HERE HYZZ2 OIS
4,000,000& 14 4,000
301 LetEAZ 960 800 160
10 At HIE& 3 960 800 160
O3 oAb AHIBA(HDOILIZS oI &A)
80,0003 3% *43| 960
ZHZ oL EX T & X 30,000 7,500 22,500
J| 15,000
& 4,500
= 10,500
401 AIEHIZ 20 30,000 7,500 22,500
| 15,000
& 4,500
= 10,500
01 Al&HI 30,000 7,500 22,500
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PN 23MSH
mu: @E)|HEs U BUNY WS(SIAUBB /DY)
EHl 2 AL 2t (ctel: &
SN HB SR (BIH) - A - B S 0l &b S D=2
OZtZotHE X & &X 1,000,000& 1070 £ 10,000
| 5,000
L= 1,500
i 3,500
OZe2Z et =EXE &X
10,000, 0003 *27H 2 20,000
| 10,000
= 3,000
= 7,000
2BAEE HHl 2 B 54,596 157,206 A 102,610
101 Q14| 13,776 10,862 2,914
04 JIZHMIZ2XEE =+ 13,776 10,862 2,914
OgAHZZA 2tel o2 33,0002 x2F 50 3,300
ONYZ 2 gy vy
33,000 »2H +502 3,300
OBLMIIEY AT o2y
33,0003 x2EH +60 3,960
OSRILSHABE BATY| 012l
33,0003 x2H 30 1,980
o428 = 12,540,000& *0.0985 1,236
201 LBt 3| 20,820 15,644 5,176
01 AtR 22/t 3,900 2,644 1,256
OS2It JAstEA HatE A
100,000& x12& 1,200
O dIt JAEA a7 2 HSHEY
50,000& ~12& 600
OSTHCISHULT ST Mo E ol
500,000& =13 500
OHEAOIZEE Fotx FAH| 800,000& =23 1,600
02 =234l 16,920 13,000 3,920
OgHAOIEE &Iz 1,000,000& x12& 12,000
oggzz Mg 150,000& <128 1,800
OsgaIt AstEa MIlg 50,0008 «128 600
OZ2RUSHEHX M2 100,000 «12& 1,200
ORzdU=ZBHE MI|2 100,000 «12& 1,200
OZZUBAS 3 (573-7175) 10,000& «12& 120
401 A &HIYL 2048 20,000 125,900 A 105,900
01 Al&H| 20,000 125,000 A 105,000
OY M gals 22 TUAEH JI2AMEH &Y
20,000,000& *12l 20,000
SUAL 2tel 270,201 183,902 86,299
101 el 10, 151 9,505 646
04 JIZtHIZ2E2HEES 10, 151 9,505 646
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SN 2K
HE: PBRIINEE U BPMY IE(SIUD/BY)
29 asAdacl (B9 &2

AN - XM . cle (s SALO . HAM 2 A} OH HEE - =2
OSUAL & It H= WA 2L
33,0003 10 74 43| 9,240
o4t B8 & 9,240,000& *0.0985 911
201 LBt 51,550 49,097 2,453
01 AR 22l 15,450 15,300 150
Oget=3ZH| 12,300,000& 12,300
OHNedl ¥ 2E dMFE =&l
7,000 x5 *33| x 12 1,260
OHLEE Y 2IA33 & ¢
70,0003 x9H 33| 1,890
02 2223l 34,100 31,797 2,303
O332= & AMA 12,000, 000& 12,000
O¢d =zl 9,600,000 9,600
OAEEHI XYl 12,500,000& 12,500
03 A2 2,000 2,000 0
OS2 M458x=4E EHAICH S& (M2 2
2 s) 2,000,000& 2,000
202 O4H| 3,300 3,300 0
01 =LA bI 3,300 3,300 0
OSAA H2F&X | 3,300,000& 3,300
206 M=l 4,800 4,800 0
01 M=Z=Hl 4,800 4,800 0
OSAUAMN 2 2 A2 Y 30,0002 10 300
O=S&C&e sA%FY (45 42 MES)
10,000 »10& *202] 2,000
OsAAM == 22| §H] 3,000& 500 1,500
OSSN =5 22| Hlg & 20,0003 *50%E 1,000
301 LEEAZ 1,000 1,000 0
10 EALAHIZEA S 1,000 1,000 0
OB &3 H&A AS 1,000,000 *13] 1,000
307 21Zt0I & 136,000 15,200 120,800
02 QItBAE X 136,000 15,200 120,800
OHm2e dZ=2&4a &5 22 130,000,000 130,000
OHN1z d2dZste 22 45 5 g2 &
ST g2t 6,000& *1,0005 6,000
401 A &HIZL 2048 60,000 101,000 241,000
01 Al&H| 60,000 101,000 A41,000
Ooggy & B 60,000,000 *14] 60,000
405 ItHatE S| 3,400 0 3,400
01 &L SZFHSHI 3,400 0 3,400
OTCIZI| JIAH & (6.6Hp) 1,000,000 *3CH 3,000
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SN 2K
HE: BRIISAE L DIAY NE(SHURY/AHT)
ol BRALDE (9l &2
_ _ _ Muo
SN EB -GS - MBAY - BES 01l &k o e HRE2
ORCIZII JIH 7L (SHE) 400,002 10H 400
AT MO} B 8,950 105,000 96,050
201 Yot | 3,000 0 3,000
01 At 2ty 3,000 0 3,000
OgsragY| 3,000,0002 3,000
206 T2l 5,950 5,000 950
01 WEHl 5,950 5,000 950
OWSMIL T8 VXS ZX 7Y L THoH
(M2, 23) 2,500, 0002 *23] 5,000
OBTHSMIF +2 U TCIR2| SATY (45,
AR RZES) 10,0002 *5 2 * 103 500
OTATMSMIt +22| €bl7Y
3,0002 *150 1 450
Net 2g(2sgas 48,000 48,000 0
= 24,000
2 24,000
THE 2Y 48,000 48,000 0
= 24,000
2 24,000
CHZ X2 2 X 48,000 48,000 0
= 24,000
2 24,000
307 Q1201 8,000 8,000 0
= 4,000
2 4,000
02 pIANBNBE 8,000 8,000 0
o2129 N7 8,000,000 8,000
= 4,000
2 4,000
308 XHXIEHHI SO & 40,000 40,000 0
= 20,000
2 20,000
06 M= IIZ0CH 40,000 40,000 0
oZzz N 40,000, 0002 40,000
= 20,000
2 20,000
IP2S (RS (238 500,000 500,000 0
TEE B 500,000 500,000 0
23tz MBS 500,000 500,000 0
702 JI3HE 500,000 500,000 0
01 JIZFES 500,000 500,000 0
O2stol = 500,000,0002 500,000
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